
Example 3 : Prove V is irrational.
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by contradiction
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E = = E= (a & b are integers and is irreducible)
=> 2 = =2 a is even a is even
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=> b2 is even-> b is even

a is even and b is even>I is reducible

+Q= ( & is reducible and is irreducible)
-

False,











Prove by contradiction that mmmesare infinite.

Prime are finite => the set of prime numbers is finite

=> say it's I = &P,, P.P. .... , Pr3 where - N

NMagic Right bulb
= It F ,

n + A

n #I (not prime)

=> n is not divisible by any of the prime

numbers (division has remainder 1)

a contradictionsince every integer can be

factored into primes.


